

Relatório de Produtos Vendidos

Data: 12-01-2026 09:05

| Data | Venda | Código | Produto | Quant. | Val.Unit. | Total | Pagamento |
|------------|--------|-------------|------------------------------|--------|-----------|--------|-----------|
| 10/01/2026 | 182844 | 10002000011 | BONE RIO BRIM CORES DIF | 1 | 60,00 | 60,00 | |
| 10/01/2026 | 182845 | 10000000216 | CRISTO SABAO MINAS 20 CM | 1 | 180,00 | 180,00 | |
| 10/01/2026 | 182846 | 00000000130 | COPO COR VIA ALEGRE | 3 | 20,00 | 60,00 | |
| 10/01/2026 | 182847 | 10002000563 | IMA RJ-101/102/103/104/105 | 1 | 30,00 | 30,00 | |
| 10/01/2026 | 182847 | 00000000190 | CROPPED BRASIL M | 1 | 75,00 | 75,00 | |
| 10/01/2026 | 182847 | 02195100208 | IMA EMBORRACHADO VIA ALEGRE | 1 | 30,00 | 30,00 | |
| 10/01/2026 | 182847 | 10002000537 | CAMISA SALADA BR AMA P | 1 | 85,00 | 85,00 | |
| 10/01/2026 | 182847 | 00000000134 | CHAPEU AUSTRALIANO | 1 | 75,00 | 75,00 | |
| 10/01/2026 | 182848 | 00000000191 | IMA ABRIDOR METAL VIA ALEDRE | 1 | 20,00 | 20,00 | |
| 10/01/2026 | 182849 | 02195100211 | POSTAL CÔCO BAMBÚ | 10 | 10,00 | 100,00 | |
| 10/01/2026 | 182849 | 00000000180 | IMA MDF EPOXI | 1 | 30,00 | 30,00 | |
| 10/01/2026 | 182849 | 00000000153 | IMA MADEIRA | 1 | 30,00 | 30,00 | |
| 10/01/2026 | 182850 | 10002000578 | IMA RESINA / METAL | 1 | 15,00 | 15,00 | |
| 10/01/2026 | 182851 | 10002000011 | BONE RIO BRIM CORES DIF | 1 | 60,00 | 60,00 | |
| 10/01/2026 | 182852 | 10000000216 | CRISTO SABAO MINAS 15 CM | 1 | 140,00 | 140,00 | |
| 10/01/2026 | 182852 | 10002000510 | CRISTO METAL M | 1 | 150,00 | 150,00 | |
| 10/01/2026 | 182853 | 10002000578 | IMA RESINA / METAL | 1 | 15,00 | 15,00 | |
| 10/01/2026 | 182854 | 10002000141 | CRISTOS RESINADO 8 CM | 1 | 20,00 | 20,00 | |
| 10/01/2026 | 182854 | 00000000153 | IMA MADEIRA | 1 | 30,00 | 30,00 | |
| 10/01/2026 | 182855 | 10002000563 | IMA RJ-101/102/103/104/105 | 1 | 30,00 | 30,00 | |
| 10/01/2026 | 182856 | 10002000512 | CRISTOS RESINADO 15 CM | 1 | 68,00 | 68,00 | |
| 10/01/2026 | 182857 | 10002000186 | CRISTO BASE PRETA G | 1 | 135,00 | 135,00 | |
| 10/01/2026 | 182858 | 10002000540 | BOLSA I LOVE RIO | 1 | 40,00 | 40,00 | |
| 10/01/2026 | 182859 | 02195100205 | PREGUIÇA DE PELUCIA 25 CM | 1 | 140,00 | 140,00 | |
| 10/01/2026 | 182859 | 02195100205 | PREGUIÇA DE PELUCIA 25 CM | 1 | 140,00 | 140,00 | |
| 10/01/2026 | 182859 | 10002000563 | IMA RJ-101/102/103/104/105 | 1 | 30,00 | 30,00 | |
| 10/01/2026 | 182860 | 02195100211 | POSTAL CÔCO BAMBÚ | 2 | 10,00 | 20,00 | |
| 10/01/2026 | 182860 | 10002000578 | CARTÃO POSTAL RIO | 1 | 5,00 | 5,00 | |
| 10/01/2026 | 182861 | 00000000130 | COPO COR VIA ALEGRE | 1 | 20,00 | 20,00 | |
| 10/01/2026 | 182862 | 00000476027 | CHAVEIRO METAL RIO | 1 | 15,00 | 15,00 | |
| 10/01/2026 | 182863 | 10002000563 | IMA RJ-101/102/103/104/105 | 1 | 30,00 | 30,00 | |
| 10/01/2026 | 182864 | 10002000553 | IMA METAL COLORIDO | 1 | 15,00 | 15,00 | |
| 10/01/2026 | 182864 | 00000476027 | CHAVEIRO METAL RIO | 2 | 15,00 | 30,00 | |
| 10/01/2026 | 182864 | 10002000563 | IMA RJ-101/102/103/104/105 | 2 | 30,00 | 60,00 | |
| 10/01/2026 | 182865 | 00000000173 | IMA ABRIDOR BORRACHA | 1 | 45,00 | 45,00 | |
| 10/01/2026 | 182865 | 00000000191 | IMA ABRIDOR METAL VIA ALEDRE | 1 | 20,00 | 20,00 | |
| 10/01/2026 | 182865 | 10002000563 | IMA RJ-101/102/103/104/105 | 1 | 30,00 | 30,00 | |
| 10/01/2026 | 182865 | 02195100211 | POSTAL CÔCO BAMBÚ | 1 | 10,00 | 10,00 | |
| 10/01/2026 | 182866 | 02195100211 | POSTAL CÔCO BAMBÚ | 1 | 10,00 | 10,00 | |
| 10/01/2026 | 182867 | 00000476027 | CHAVEIRO METAL RIO | 1 | 15,00 | 15,00 | |
| 10/01/2026 | 182867 | 00000476027 | CHAVEIRO METAL RIO | 1 | 15,00 | 15,00 | |
| 10/01/2026 | 182868 | 00000000174 | IMA CRISTO RESINA | 1 | 15,00 | 15,00 | |
| 10/01/2026 | 182868 | 10002000563 | IMA RJ-101/102/103/104/105 | 1 | 30,00 | 30,00 | |
| 10/01/2026 | 182868 | 00000000191 | IMA ABRIDOR METAL VIA ALEDRE | 1 | 20,00 | 20,00 | |
| 10/01/2026 | 182868 | 10002000563 | IMA RJ-101/102/103/104/105 | 1 | 30,00 | 30,00 | |
| 10/01/2026 | 182868 | 00000000170 | CRISTO AMETISTA PPP | 1 | 12,00 | 12,00 | |
| 10/01/2026 | 182868 | 10002000141 | CRISTOS RESINADO 8 CM | 1 | 20,00 | 20,00 | |
| 10/01/2026 | 182868 | 10002000563 | IMA RJ-101/102/103/104/105 | 1 | 30,00 | 30,00 | |
| 10/01/2026 | 182868 | 00000000170 | CRISTO AMETISTA PPP | 1 | 12,00 | 12,00 | |
| 10/01/2026 | 182868 | 00000000174 | IMA CRISTO RESINA | 1 | 15,00 | 15,00 | |
| 10/01/2026 | 182868 | 00000000174 | IMA CRISTO RESINA | 1 | 15,00 | 15,00 | |
| 10/01/2026 | 182869 | 10002000141 | CRISTOS RESINADO 8 CM | 1 | 20,00 | 20,00 | |

| | | | | | | | |
|------------|--------|-------------|------------------------------|---|--------|--------|--|
| 10/01/2026 | 182870 | 10002000578 | IMA RESINA / METAL | 1 | 15,00 | 15,00 | |
| 10/01/2026 | 182871 | 00000000191 | IMA ABRIDOR METAL VIA ALEDRE | 1 | 20,00 | 20,00 | |
| 10/01/2026 | 182872 | 10002000512 | CRISTOS RESINADO 15 CM | 1 | 68,00 | 68,00 | |
| 10/01/2026 | 182873 | 02195100211 | POSTAL CÔCO BAMBÚ | 3 | 10,00 | 30,00 | |
| 10/01/2026 | 182873 | 10002000578 | CARTÃO POSTAL RIO | 5 | 5,00 | 25,00 | |
| 10/01/2026 | 182874 | 10002000141 | CRISTOS RESINADO 8 CM | 1 | 20,00 | 20,00 | |
| 10/01/2026 | 182875 | 10002000185 | CRISTO BASE PRETA P | 1 | 48,00 | 48,00 | |
| 10/01/2026 | 182875 | 10002000512 | CRISTOS RESINADO 10 CM | 1 | 42,00 | 42,00 | |
| 10/01/2026 | 182876 | 10002000578 | CARTÃO POSTAL RIO | 6 | 5,00 | 30,00 | |
| 10/01/2026 | 182876 | 00000000153 | IMA MADEIRA | 1 | 30,00 | 30,00 | |
| 10/01/2026 | 182876 | 00000000153 | IMA MADEIRA | 1 | 30,00 | 30,00 | |
| 10/01/2026 | 182877 | 00000000199 | CAMISA BOTA AD M | 1 | 200,00 | 200,00 | |
| 10/01/2026 | 182878 | 10002000011 | BONE RIO BRIM CORES DIF | 1 | 60,00 | 60,00 | |
| 10/01/2026 | 182879 | 10002000186 | CRISTO BASE PRETA G | 1 | 135,00 | 135,00 | |
| 10/01/2026 | 182880 | 00000000197 | CAMISA VASCO M | 1 | 200,00 | 200,00 | |
| 10/01/2026 | 182881 | 00000000130 | COPO COR VIA ALEGRE | 1 | 20,00 | 20,00 | |
| 10/01/2026 | 182882 | 10002000537 | CAMISA SALADA BR AMA P | 1 | 85,00 | 85,00 | |
| 10/01/2026 | 182882 | 10002000563 | IMA RJ-101/102/103/104/105 | 3 | 30,00 | 90,00 | |
| 10/01/2026 | 182882 | 10002000141 | CRISTOS RESINADO 8 CM | 1 | 20,00 | 20,00 | |
| 10/01/2026 | 182882 | 00000000157 | CAM 801EST0311 AZUL/GRAF GGG | 1 | 120,00 | 120,00 | |
| 10/01/2026 | 182883 | 00000000174 | IMA CRISTO RESINA | 1 | 15,00 | 15,00 | |
| 10/01/2026 | 182883 | 00000000202 | CRISTO SOBRAL METAL G | 1 | 255,00 | 255,00 | |
| 10/01/2026 | 182883 | 10002000563 | IMA RJ-101/102/103/104/105 | 1 | 30,00 | 30,00 | |
| 10/01/2026 | 182884 | 10002000578 | IMA RESINA / METAL | 1 | 15,00 | 15,00 | |
| 10/01/2026 | 182885 | 10002000011 | BONE RIO BRIM CORES DIF | 4 | 60,00 | 240,00 | |
| 10/01/2026 | 182886 | 02195100211 | POSTAL CÔCO BAMBÚ | 2 | 10,00 | 20,00 | |
| 10/01/2026 | 182887 | 02195100211 | CAM LUGA M | 1 | 120,00 | 120,00 | |
| 10/01/2026 | 182887 | 10002000540 | BOLSA I LOVE RIO | 1 | 40,00 | 40,00 | |
| 10/01/2026 | 182887 | 10002000141 | CRISTOS RESINADO 8 CM | 2 | 20,00 | 40,00 | |
| 10/01/2026 | 182888 | 10002000578 | CARTÃO POSTAL RIO | 2 | 5,00 | 10,00 | |
| 10/01/2026 | 182889 | 10002000512 | CRISTOS RESINADO 20 CM | 1 | 90,00 | 90,00 | |
| 10/01/2026 | 182890 | 10002000578 | CARTÃO POSTAL RIO | 4 | 5,00 | 20,00 | |
| 10/01/2026 | 182891 | 02195100212 | CRISTO PAO VIA ALEGRE M | 1 | 65,00 | 65,00 | |
| 10/01/2026 | 182892 | 10002000141 | CRISTOS RESINADO 8 CM | 2 | 20,00 | 40,00 | |
| 10/01/2026 | 182893 | 00000033702 | CACHACA C/1 160 ML | 1 | 42,00 | 42,00 | |
| 10/01/2026 | 182894 | 10002000563 | IMA RJ-101/102/103/104/105 | 1 | 30,00 | 30,00 | |
| 10/01/2026 | 182895 | 10002000563 | IMA RJ-101/102/103/104/105 | 1 | 30,00 | 30,00 | |
| 10/01/2026 | 182895 | 10002000578 | IMA RESINA / METAL | 3 | 15,00 | 45,00 | |
| 10/01/2026 | 182896 | 10002000563 | IMA RJ-101/102/103/104/105 | 4 | 30,00 | 120,00 | |
| 10/01/2026 | 182896 | 10002000563 | IMA RJ-101/102/103/104/105 | 1 | 30,00 | 30,00 | |
| 10/01/2026 | 182897 | 02195100024 | BONECAS ARTE DE PAPEL U | 2 | 85,00 | 170,00 | |
| 10/01/2026 | 182898 | 10002000578 | IMA RESINA / METAL | 2 | 15,00 | 30,00 | |
| 10/01/2026 | 182898 | 10002000514 | CRISTO P. ACUCAR GRANITO M | 1 | 65,00 | 65,00 | |
| 10/01/2026 | 182898 | 02195100211 | COLAR NOSSA SENHORA DA APARE | 1 | 90,00 | 90,00 | |
| 10/01/2026 | 182898 | 00000000130 | COPO COR VIA ALEGRE | 1 | 20,00 | 20,00 | |
| 10/01/2026 | 182899 | 10002000351 | PLACA RIO METAL TAM U | 2 | 60,00 | 120,00 | |
| 10/01/2026 | 182900 | 00000000200 | LEQUE RIO | 1 | 30,00 | 30,00 | |
| 10/01/2026 | 182901 | 10002000563 | IMA RJ-101/102/103/104/105 | 1 | 30,00 | 30,00 | |
| 10/01/2026 | 182902 | 10002000578 | CARTÃO POSTAL RIO | 2 | 5,00 | 10,00 | |
| 10/01/2026 | 182903 | 10002000389 | CRISTO METAL G | 1 | 255,00 | 255,00 | |
| 10/01/2026 | 182903 | 10002000563 | IMA RJ-101/102/103/104/105 | 1 | 30,00 | 30,00 | |
| 10/01/2026 | 182904 | 10002000578 | IMA RESINA / METAL | 1 | 15,00 | 15,00 | |
| 10/01/2026 | 182905 | 00000000190 | CROPPED BRASIL G | 1 | 75,00 | 75,00 | |
| 10/01/2026 | 182906 | 10002000578 | IMA RESINA / METAL | 2 | 15,00 | 30,00 | |
| 10/01/2026 | 182907 | 00000000134 | CHAPEU AUSTRALIANO | 1 | 75,00 | 75,00 | |
| 10/01/2026 | 182908 | 00000000200 | LEQUE RIO | 1 | 30,00 | 30,00 | |

| | | | | | | | |
|------------|--------|-------------|------------------------------|---|--------|--------|--|
| 10/01/2026 | 182909 | 10002000563 | IMA RJ-101/102/103/104/105 | 1 | 30,00 | 30,00 | |
| 10/01/2026 | 182910 | 00000000174 | IMA CRISTO RESINA | 2 | 15,00 | 30,00 | |
| 10/01/2026 | 182911 | 10002000186 | CRISTO BASE PRETA G | 1 | 135,00 | 135,00 | |
| 10/01/2026 | 182912 | 10002000512 | CRISTOS RESINADO 10 CM | 1 | 42,00 | 42,00 | |
| 10/01/2026 | 182913 | 00000000153 | IMA MADEIRA | 1 | 30,00 | 30,00 | |
| 10/01/2026 | 182914 | 00000000191 | IMA ABRIDOR METAL VIA ALEDRE | 1 | 20,00 | 20,00 | |
| 10/01/2026 | 182915 | 02195100208 | BODY DANY P | 1 | 75,00 | 75,00 | |
| 10/01/2026 | 182916 | 10002000237 | PROT BANANA W-50 | 1 | 140,00 | 140,00 | |
| 10/01/2026 | 182917 | 00000000190 | BODY BABY P | 1 | 75,00 | 75,00 | |
| 10/01/2026 | 182918 | 10002000141 | CRISTOS RESINADO 8 CM | 1 | 20,00 | 20,00 | |
| 10/01/2026 | 182919 | 00000000200 | LEQUE RIO | 1 | 30,00 | 30,00 | |
| 10/01/2026 | 182920 | 10002000512 | CRISTOS RESINADO 10 CM | 1 | 42,00 | 42,00 | |
| 10/01/2026 | 182921 | 00000000172 | IMA MINI PLACA RIO METAL | 1 | 22,00 | 22,00 | |
| 10/01/2026 | 182922 | 00000000172 | IMA MINI PLACA RIO METAL | 1 | 22,00 | 22,00 | |
| 10/01/2026 | 182922 | 10002000351 | PLACA RIO METAL TAM U | 1 | 60,00 | 60,00 | |
| 10/01/2026 | 182922 | 00000476027 | CHAVEIRO METAL RIO | 4 | 15,00 | 60,00 | |
| 10/01/2026 | 182922 | 00000000172 | IMA MINI PLACA RIO METAL | 1 | 22,00 | 22,00 | |
| 10/01/2026 | 182923 | 02195100211 | POSTAL CÔCO BAMBÚ | 2 | 10,00 | 20,00 | |
| 10/01/2026 | 182924 | 10002000011 | BONE RIO BRIM CORES DIF | 1 | 60,00 | 60,00 | |
| 10/01/2026 | 182925 | 02195100212 | CRISTO PAO VIA ALEGRE P | 1 | 45,00 | 45,00 | |
| 10/01/2026 | 182926 | 00000000181 | CRISTO BASE PRETA PP | 1 | 35,00 | 35,00 | |
| 10/01/2026 | 182927 | 00000000190 | CROPPED BRASIL G | 1 | 75,00 | 75,00 | |
| 10/01/2026 | 182928 | 00000000190 | CROPPED BRASIL GG | 1 | 75,00 | 75,00 | |
| 10/01/2026 | 182929 | 02195100207 | IMA ABRIDOR METAL SW | 1 | 35,00 | 35,00 | |
| 10/01/2026 | 182930 | 02195100212 | CRISTO PAO VIA ALEGRE M | 1 | 65,00 | 65,00 | |
| 10/01/2026 | 182931 | 00000000172 | IMA MINI PLACA RIO METAL | 1 | 22,00 | 22,00 | |
| 10/01/2026 | 182932 | 00000476027 | CHAVEIRO METAL RIO | 1 | 15,00 | 15,00 | |
| 10/01/2026 | 182932 | 10002000578 | IMA RESINA / METAL | 2 | 15,00 | 30,00 | |
| 10/01/2026 | 182932 | 00000476027 | CHAVEIRO METAL RIO | 2 | 15,00 | 30,00 | |
| 10/01/2026 | 182932 | 10002000166 | CANETA VIA ALEGRE | 1 | 15,00 | 15,00 | |
| 10/01/2026 | 182933 | 10000000123 | BOLSA PINTADA | 1 | 80,00 | 80,00 | |
| 10/01/2026 | 182933 | 10002000166 | CANETA VIA ALEGRE | 1 | 15,00 | 15,00 | |
| 10/01/2026 | 182934 | 10002000563 | IMA RJ-101/102/103/104/105 | 1 | 30,00 | 30,00 | |
| 10/01/2026 | 182935 | 00000000191 | IMA ABRIDOR METAL VIA ALEDRE | 1 | 20,00 | 20,00 | |
| 10/01/2026 | 182935 | 00000000130 | COPO COR VIA ALEGRE | 1 | 20,00 | 20,00 | |
| 10/01/2026 | 182935 | 10002000011 | BONE RIO BRIM CORES DIF | 2 | 60,00 | 120,00 | |
| 10/01/2026 | 182936 | 10002000011 | BONE RIO BRIM CORES DIF | 1 | 60,00 | 60,00 | |
| 10/01/2026 | 182937 | 10000000216 | CRISTO SABAO MINAS 20 CM | 1 | 180,00 | 180,00 | |
| 10/01/2026 | 182938 | 10002000578 | IMA RESINA / METAL | 1 | 15,00 | 15,00 | |
| 10/01/2026 | 182939 | 10002000507 | MOCHILINHA ARTE CARLOS | 1 | 70,00 | 70,00 | |
| 10/01/2026 | 182940 | 10002000578 | IMA RESINA / METAL | 1 | 15,00 | 15,00 | |
| 10/01/2026 | 182940 | 10002000563 | IMA RJ-101/102/103/104/105 | 3 | 30,00 | 90,00 | |
| 10/01/2026 | 182941 | 10002000141 | CRISTOS RESINADO 8 CM | 1 | 20,00 | 20,00 | |
| 10/01/2026 | 182942 | 10002000578 | CARTÃO POSTAL RIO | 3 | 5,00 | 15,00 | |
| 10/01/2026 | 182943 | 10000000216 | CRISTO SABAO MINAS 10 CM | 1 | 80,00 | 80,00 | |
| 10/01/2026 | 182943 | 10000000216 | CRISTO SABAO MINAS 10 CM | 1 | 80,00 | 80,00 | |
| 10/01/2026 | 182943 | 10002000578 | IMA RESINA / METAL | 1 | 15,00 | 15,00 | |
| 10/01/2026 | 182943 | 10002000563 | IMA RJ-101/102/103/104/105 | 2 | 30,00 | 60,00 | |
| 10/01/2026 | 182943 | 02195100208 | IMA EMBORRACHADO VIA ALEGRE | 1 | 30,00 | 30,00 | |
| 10/01/2026 | 182944 | 10002000578 | IMA RESINA / METAL | 2 | 15,00 | 30,00 | |
| 10/01/2026 | 182944 | 00000000190 | CROPPED BRASIL P | 1 | 75,00 | 75,00 | |
| 10/01/2026 | 182944 | 00000000176 | CANGA R. JANEIRO | 1 | 75,00 | 75,00 | |
| 10/01/2026 | 182945 | 10000000216 | CRISTO SABAO MINAS 15 CM | 1 | 140,00 | 140,00 | |
| 10/01/2026 | 182946 | 00000000172 | IMA MINI PLACA RIO METAL | 1 | 22,00 | 22,00 | |
| 10/01/2026 | 182947 | 10002000578 | CARTÃO POSTAL RIO | 1 | 5,00 | 5,00 | |
| 10/01/2026 | 182948 | 00000000153 | IMA MADEIRA | 2 | 30,00 | 60,00 | |

| | | | | | | | |
|------------|--------|-------------|-----------------------------|---|--------|--------|--|
| 10/01/2026 | 182948 | 02195100211 | POSTAL CÔCO BAMBÚ | 4 | 10,00 | 40,00 | |
| 10/01/2026 | 182949 | 10002000512 | CRISTOS RESINADO 15 CM | 1 | 68,00 | 68,00 | |
| 10/01/2026 | 182949 | 00000000176 | CAMISA INF SALADA BR G | 1 | 75,00 | 75,00 | |
| 10/01/2026 | 182949 | 00000000134 | CHAPEU AUSTRALIANO | 1 | 75,00 | 75,00 | |
| 10/01/2026 | 182950 | 00000000181 | CRISTO BASE PRETA PP | 1 | 35,00 | 35,00 | |
| 10/01/2026 | 182951 | 10002000578 | IMA RESINA / METAL | 1 | 15,00 | 15,00 | |
| 10/01/2026 | 182952 | 00000476027 | CHAVEIRO METAL RIO | 1 | 15,00 | 15,00 | |
| 10/01/2026 | 182953 | 10000000216 | CRISTO SABAO MINAS 10 CM | 1 | 80,00 | 80,00 | |
| 10/01/2026 | 182954 | 10002000552 | BOLSAS VAR/DIV TAM U | 1 | 45,00 | 45,00 | |
| 10/01/2026 | 182955 | 10002000512 | CRISTOS RESINADO 15 CM | 1 | 68,00 | 68,00 | |
| 10/01/2026 | 182955 | 10002000512 | CRISTOS RESINADO 15 CM | 1 | 68,00 | 68,00 | |
| 10/01/2026 | 182955 | 00000000181 | CRISTO BASE PRETA PP | 1 | 35,00 | 35,00 | |
| 10/01/2026 | 182956 | 10000000216 | CRISTO SABAO MINAS 10 CM | 1 | 80,00 | 80,00 | |
| 10/01/2026 | 182957 | 00000000153 | IMA MADEIRA | 1 | 30,00 | 30,00 | |
| 10/01/2026 | 182957 | 10002000563 | IMA RJ-101/102/103/104/105 | 1 | 30,00 | 30,00 | |
| 10/01/2026 | 182958 | 00000000195 | CAMISA CRISTO BRANCA GG | 1 | 120,00 | 120,00 | |
| 10/01/2026 | 182958 | 10002000563 | IMA RJ-101/102/103/104/105 | 1 | 30,00 | 30,00 | |
| 10/01/2026 | 182959 | 10002000512 | CRISTOS RESINADO 15 CM | 1 | 68,00 | 68,00 | |
| 10/01/2026 | 182960 | 00000000153 | IMA MADEIRA | 1 | 30,00 | 30,00 | |
| 10/01/2026 | 182961 | 10002000512 | CRISTOS RESINADO 15 CM | 1 | 68,00 | 68,00 | |
| 10/01/2026 | 182961 | 10002000563 | IMA RJ-101/102/103/104/105 | 2 | 30,00 | 60,00 | |
| 10/01/2026 | 182961 | 02195100211 | POSTAL CÔCO BAMBÚ | 1 | 10,00 | 10,00 | |
| 10/01/2026 | 182962 | 10002000578 | IMA RESINA / METAL | 3 | 15,00 | 45,00 | |
| 10/01/2026 | 182962 | 00000000176 | CANGA R. JANEIRO | 1 | 75,00 | 75,00 | |
| 10/01/2026 | 182963 | 10002000537 | CAMISA SALADA BR AMA M | 1 | 85,00 | 85,00 | |
| 10/01/2026 | 182963 | 00000000176 | CAMISA INF SALADA BR P | 1 | 75,00 | 75,00 | |
| 10/01/2026 | 182964 | 10002000578 | IMA RESINA / METAL | 1 | 15,00 | 15,00 | |
| 10/01/2026 | 182965 | 10002000563 | IMA RJ-101/102/103/104/105 | 1 | 30,00 | 30,00 | |
| 10/01/2026 | 182965 | 00000000130 | COPO COR VIA ALEGRE | 1 | 20,00 | 20,00 | |
| 10/01/2026 | 182966 | 10002000563 | IMA RJ-101/102/103/104/105 | 1 | 30,00 | 30,00 | |
| 10/01/2026 | 182966 | 02195100207 | IMA ABRIDOR METAL SW | 1 | 35,00 | 35,00 | |
| 10/01/2026 | 182967 | 00000000181 | CRISTO BASE PRETA PP | 1 | 35,00 | 35,00 | |
| 10/01/2026 | 182968 | 00000000161 | REGATA FEM BRASIL GG | 1 | 75,00 | 75,00 | |
| 10/01/2026 | 182969 | 10002000512 | CRISTOS RESINADO 15 CM | 1 | 68,00 | 68,00 | |
| 10/01/2026 | 182970 | 10002000512 | CRISTOS RESINADO 15 CM | 1 | 68,00 | 68,00 | |
| 10/01/2026 | 182970 | 02195100211 | BONÉ BICHOS PELUCIA | 1 | 120,00 | 120,00 | |
| 10/01/2026 | 182971 | 02195100209 | CAM FLU PULSAR GELO ADT G | 1 | 145,00 | 145,00 | |
| 10/01/2026 | 182971 | 00000000153 | IMA MADEIRA | 2 | 30,00 | 60,00 | |
| 10/01/2026 | 182972 | 10002000563 | IMA RJ-101/102/103/104/105 | 1 | 30,00 | 30,00 | |
| 10/01/2026 | 182972 | 10002000512 | CRISTOS RESINADO 10 CM | 1 | 42,00 | 42,00 | |
| 10/01/2026 | 182972 | 10002000141 | CRISTOS RESINADO 8 CM | 4 | 20,00 | 80,00 | |
| 10/01/2026 | 182973 | 00000000172 | IMA MINI PLACA RIO METAL | 1 | 22,00 | 22,00 | |
| 10/01/2026 | 182973 | 00000000200 | IMA ABRIDOR BORRACHA CRISTO | 1 | 55,00 | 55,00 | |
| 10/01/2026 | 182974 | 10002000578 | IMA RESINA / METAL | 1 | 15,00 | 15,00 | |
| 10/01/2026 | 182975 | 02195100181 | LAPIS RIO SW | 1 | 12,00 | 12,00 | |
| 10/01/2026 | 182975 | 10002000141 | CRISTOS RESINADO 8 CM | 1 | 20,00 | 20,00 | |
| 10/01/2026 | 182975 | 10002000141 | CRISTOS RESINADO 8 CM | 2 | 20,00 | 40,00 | |
| 10/01/2026 | 182976 | 10002000401 | CAMISA BICHOS 0 ANOS | 1 | 98,00 | 98,00 | |
| 10/01/2026 | 182977 | 00000000134 | CHAPEU AUSTRALIANO | 1 | 75,00 | 75,00 | |
| 10/01/2026 | 182978 | 00000476027 | CHAVEIRO METAL RIO | 1 | 15,00 | 15,00 | |
| 10/01/2026 | 182979 | 10002000575 | CAM 801EST0311 AZUL/GRAF GG | 1 | 120,00 | 120,00 | |
| 10/01/2026 | 182980 | 10002000185 | CRISTO BASE PRETA P | 1 | 48,00 | 48,00 | |
| 10/01/2026 | 182981 | 10002000512 | CRISTOS RESINADO 15 CM | 2 | 68,00 | 136,00 | |
| 10/01/2026 | 182982 | 10002000141 | CRISTOS RESINADO 8 CM | 1 | 20,00 | 20,00 | |
| 10/01/2026 | 182982 | 10002000578 | CARTÃO POSTAL RIO | 1 | 5,00 | 5,00 | |
| 10/01/2026 | 182983 | 02195100208 | IMA EMBORRACHADO VIA ALEGRE | 1 | 30,00 | 30,00 | |

| | | | | | | | |
|------------|--------|-------------|------------------------------|---|--------|--------|--|
| 10/01/2026 | 182983 | 10002000578 | IMA RESINA / METAL | 1 | 15,00 | 15,00 | |
| 10/01/2026 | 182984 | 10002000563 | IMA RJ-101/102/103/104/105 | 4 | 30,00 | 120,00 | |
| 10/01/2026 | 182985 | 00000000197 | CHAV. METAL CRISTO | 1 | 30,00 | 30,00 | |
| 10/01/2026 | 182986 | 00000476027 | CHAVEIRO METAL RIO | 2 | 15,00 | 30,00 | |
| 10/01/2026 | 182987 | 10002000512 | CRISTOS RESINADO 15 CM | 1 | 68,00 | 68,00 | |
| 10/01/2026 | 182988 | 00000000153 | IMA MADEIRA | 2 | 30,00 | 60,00 | |
| 10/01/2026 | 182988 | 00000476027 | CHAVEIRO METAL RIO | 2 | 15,00 | 30,00 | |
| 10/01/2026 | 182988 | 00000000185 | PORTA COPO 8X8 | 3 | 18,00 | 54,00 | |
| 10/01/2026 | 182989 | 00000000204 | PIN CRISTO EMBORRACHADO | 1 | 23,00 | 23,00 | |
| 10/01/2026 | 182989 | 10002000509 | PIN BRASIL/RIO | 1 | 20,00 | 20,00 | |
| 10/01/2026 | 182990 | 10002000563 | IMA RJ-101/102/103/104/105 | 1 | 30,00 | 30,00 | |
| 10/01/2026 | 182990 | 02195100208 | CHAVEIRO METAL SW | 1 | 30,00 | 30,00 | |
| 10/01/2026 | 182991 | 10002000514 | CRISTO P. ACUCAR GRANITO M | 2 | 65,00 | 130,00 | |
| 10/01/2026 | 182991 | 00000000151 | CANECA SAMIR CRISTO | 1 | 55,00 | 55,00 | |
| 10/01/2026 | 182992 | 00000000191 | IMA ABRIDOR METAL VIA ALEDRE | 1 | 20,00 | 20,00 | |
| 10/01/2026 | 182993 | 10002000141 | CRISTOS RESINADO 8 CM | 1 | 20,00 | 20,00 | |
| 10/01/2026 | 182994 | 00000000181 | CRISTO BASE PRETA PP | 1 | 35,00 | 35,00 | |
| 10/01/2026 | 182995 | 02195100208 | IMA EMBORRACHADO VIA ALEGRE | 1 | 30,00 | 30,00 | |
| 10/01/2026 | 182996 | 10002000578 | IMA RESINA / METAL | 1 | 15,00 | 15,00 | |
| 10/01/2026 | 182997 | 10002000141 | CRISTOS RESINADO 8 CM | 1 | 20,00 | 20,00 | |
| 10/01/2026 | 182997 | 02195100101 | CHAV EMBORRACHADO | 1 | 20,00 | 20,00 | |
| 10/01/2026 | 182998 | 00000000200 | IMA ABRIDOR BORRACHA CRISTO | 1 | 55,00 | 55,00 | |
| 10/01/2026 | 182998 | 02195100207 | IMA ABRIDOR METAL SW | 1 | 35,00 | 35,00 | |
| 10/01/2026 | 182998 | 00000000130 | COPO COR VIA ALEGRE | 1 | 20,00 | 20,00 | |
| 10/01/2026 | 182998 | 02195100207 | IMA ABRIDOR METAL SW | 1 | 35,00 | 35,00 | |
| 10/01/2026 | 182998 | 00000000170 | CRISTO AMETISTA PPP | 1 | 12,00 | 12,00 | |
| 10/01/2026 | 182998 | 02195100211 | POSTAL CÔCO BAMBÚ | 2 | 10,00 | 20,00 | |
| 10/01/2026 | 182999 | 10002000578 | CARTÃO POSTAL RIO | 1 | 5,00 | 5,00 | |
| 10/01/2026 | 183000 | 10002000011 | BONE RIO BRIM CORES DIF | 1 | 60,00 | 60,00 | |
| 10/01/2026 | 183001 | 10002000537 | CAMISA SALADA BR AMA P | 1 | 85,00 | 85,00 | |
| 10/01/2026 | 183002 | 00000000197 | CHAV. METAL CRISTO | 1 | 30,00 | 30,00 | |
| 10/01/2026 | 183002 | 10002000578 | IMA RESINA / METAL | 5 | 15,00 | 75,00 | |
| 10/01/2026 | 183002 | 02195100101 | CHAV EMBORRACHADO | 1 | 20,00 | 20,00 | |
| 10/01/2026 | 183003 | 10002000578 | CARTÃO POSTAL RIO | 2 | 5,00 | 10,00 | |
| 10/01/2026 | 183004 | 00000000174 | IMA CRISTO RESINA | 1 | 15,00 | 15,00 | |
| 10/01/2026 | 183005 | 10002000563 | IMA RJ-101/102/103/104/105 | 1 | 30,00 | 30,00 | |
| 10/01/2026 | 183005 | 10002000351 | PLACA RIO METAL TAM U | 1 | 60,00 | 60,00 | |
| 10/01/2026 | 183006 | 10002000578 | IMA RESINA / METAL | 1 | 15,00 | 15,00 | |
| 10/01/2026 | 183007 | 10002000512 | CRISTOS RESINADO 10 CM | 1 | 42,00 | 42,00 | |
| 10/01/2026 | 183008 | 10002000512 | CRISTOS RESINADO 10 CM | 1 | 42,00 | 42,00 | |
| 10/01/2026 | 183008 | 10002000141 | CRISTOS RESINADO 8 CM | 4 | 20,00 | 80,00 | |
| 10/01/2026 | 183008 | 10002000563 | IMA RJ-101/102/103/104/105 | 1 | 30,00 | 30,00 | |
| 10/01/2026 | 183008 | 00000000157 | CAM 801EST0311 AZUL/GRAF GGG | 1 | 120,00 | 120,00 | |
| 10/01/2026 | 183009 | 02195100211 | POSTAL CÔCO BAMBÚ | 1 | 10,00 | 10,00 | |
| 10/01/2026 | 183010 | 00000000130 | COPO COR VIA ALEGRE | 1 | 20,00 | 20,00 | |
| 10/01/2026 | 183010 | 00000000170 | CRISTO AMETISTA PPP | 2 | 12,00 | 24,00 | |
| 10/01/2026 | 183011 | 10002000512 | CRISTOS RESINADO 10 CM | 1 | 42,00 | 42,00 | |
| 10/01/2026 | 183012 | 00000000200 | LEQUE RIO | 1 | 30,00 | 30,00 | |
| 10/01/2026 | 183013 | 10002000011 | BONE RIO BRIM CORES DIF | 2 | 60,00 | 120,00 | |
| 10/01/2026 | 183014 | 10002000578 | IMA RESINA / METAL | 1 | 15,00 | 15,00 | |
| 10/01/2026 | 183014 | 00000000185 | PORTA COPO 8X8 | 1 | 18,00 | 18,00 | |
| 10/01/2026 | 183015 | 10002000578 | IMA RESINA / METAL | 3 | 15,00 | 45,00 | |
| 10/01/2026 | 183016 | 10002000578 | IMA RESINA / METAL | 1 | 15,00 | 15,00 | |
| 10/01/2026 | 183016 | 10002000512 | CRISTOS RESINADO 10 CM | 1 | 42,00 | 42,00 | |
| 10/01/2026 | 183017 | 02195100212 | CRISTO PAO VIA ALEGRE P | 1 | 45,00 | 45,00 | |
| 10/01/2026 | 183017 | 02195100212 | CRISTO PAO VIA ALEGRE P | 1 | 45,00 | 45,00 | |

| | | | | | | | |
|------------|--------|-------------|----------------------------|---|--------------------|------------------|--|
| 10/01/2026 | 183018 | 00000476027 | CHAVEIRO METAL RIO | 1 | 15,00 | 15,00 | |
| 10/01/2026 | 183018 | 10002000141 | CRISTOS RESINADO 8 CM | 1 | 20,00 | 20,00 | |
| 10/01/2026 | 183018 | 10002000540 | BOLSA I LOVE RIO | 1 | 40,00 | 40,00 | |
| 10/01/2026 | 183018 | 10002000563 | IMA RJ-101/102/103/104/105 | 1 | 30,00 | 30,00 | |
| 10/01/2026 | 183019 | 10000000216 | CRISTO SABAO MINAS 10 CM | 2 | 80,00 | 160,00 | |
| 10/01/2026 | 183019 | 10002000563 | IMA RJ-101/102/103/104/105 | 1 | 30,00 | 30,00 | |
| 10/01/2026 | 183019 | 00000000197 | CHAV. METAL CRISTO | 1 | 30,00 | 30,00 | |
| 10/01/2026 | 183020 | 02195100211 | POSTAL CÔCO BAMBÚ | 2 | 10,00 | 20,00 | |
| 10/01/2026 | 183020 | 10002000578 | CARTÃO POSTAL RIO | 2 | 5,00 | 10,00 | |
| | | | | | Total | 14.372,00 | |
| | | | | | Desconto | 7,00 | |
| | | | | | Total Geral | 14.365,00 | |